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Boite à problèmes 1 
Fiche de réponses	

Prénom : 	
Date : 	

Résolution de problèmes	

1	 6	+	4	=	10		Léa	a	10	billes.		

2	 7	–	4	=	3		Elle	a	3	billes.	

3	 5		+	6	=	11	Il	y	a	11	voitures.	

4	 8	–	3	=		5		Elle	a	5	cartes.		

5	 9	+	5	=	14		David	a	14	€.	

6	 18	+	5	=	23		Pierre	a	23	images.	

7	 10	–	5	=	5		Il	y	a	5	voitures.	

8	 8	–	3	=	5		Il	lui	reste	5	€.	

9	 6	+	3	=	9	J’ai	9	Imbres.		

10	 12	–	2	=	10		Il	reste	10	roses.	

11	 12	–	3	=	9		Il	a	9	œufs.		

12		 6	+	3	=	9		Elle	a	lu	9	livres.		

13	 10	+	8	=	18		Il	a	18	coquillages.	

14	 22	+	14	=	36		Il	a	36	œufs.		

15		 26	–	6	=	20		Elle	a	20	coquillages.	

16	 25	–	4	=	21		Il	reste	21	élèves.		

17	 	5	+	6	=	11		Il	a	11	objets.		

18	 5	+	4	=	9	Elle	a	9	invités.		

19	 9	–	4	=	5		5	rosiers	ne	sont	pas	fleuris.		

20	 13	–	6	=	7		Il	a	7	billes	à	droite.		

21	 12	+	10	=	22		Il	y	a	22	élèves.		

22	 20	–	11	=	9		Il	y	a	9	garçons.		

23	 6	+	5	=	11		Il	a	11	voitures.		

24	 8	–	5	=	3		Elle	a	3	voitures	bleues.		

25	 8	+	4	=	12	Il	y	a	12	jetons.		

26	 6	+	10	=	16		J’ai	16	bonbons.		

27	 15	–	8	=	7		Il	y	a	7	iris.		

28		 16	–	12	=	4		Il	y	a	4	crème	à	la	vanille.		

29	 21	+	18	=	39		Elle	va	payer	39	€.		

30	 24	–	11	=	13		Il	y	a	13	Imbres	français.	

31		 28	–	22	=	6	:	6	enfants	ont	abandonné.		

32	 4	+	6	+	7	=	17		Il	y	a	17	chaises.		

33	 9	–	5	=	4		Il	a	gagné	4	billes.	

34	 12	–	6	=	6	Elle	a	perdu	6	billes.		

35	 10	–	7	=	3			3	voitures	sont	parIes.		

36	 18	–	10	=	8		Il	en	a	acheté	8.	

37	 15	–	11	=	4		4	fleurs	étaient	fanées.		

38	 16	–	13	=	3		Il	a	retrouvé	3	feutres.		

39	 22	–	15	=	7		Elle	a	avancé	de	7	cases.		

40	 12	–	8	=	4		4	verres	ont	été	cassés.		

41	 14	–	9	=	5		Il	reste	5	oiseaux.	

42	 26	–	16	=	10		Elle	a	acheté	10	gâteaux.		

43	 27	–	15	=	12		Elle	a	pris	12	photos.	

44		 24	–	18	=	6		6	gâteaux	ont	été	mangés.		

45	 20	–	12	=	8		8	tomates	ont	poussé.		

46	 65	–	43	=	22		Il	a	dépensé	22	€.	

47		 58	–	36	=	22		Elle	a	lu	22	pages.		

48	 48	–	25	=	23		Il	reste	23	œufs.			
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1	 	4	+	5	=	9		Léo	a	mangé	9	gâteaux.		

2	 7	+	6	=	13		Son	frère	a	13	ans.		

3	 26	–	4	=	22		Il	y	a	22	élèves	au	CE2.		

4	 14	–	4	=	10		Il	a	10	étages.	

5	 27	+	6	=	33	Louis	en	arrivé	33ème.		

6	 59	–	20	=	39		Pierre	a	39	images.		

7	 15	+	10	=	25		Tonton	a	lu	25	livres.		

8	 38	–	14	=	24		Rémi	a	24	€.	

9	 35	+	16	=	51		Noa	a	51	Imbres.		

10	 15	–	4	=	11		Il	y	avait	11	salades.		

11	 28	–	10	=	18		Elle	a	pondu	18	œufs.		

12		 47	+	25	=	72		Il	y	a	72	livres.		

13	 58	–	13	=	45		Il	a	45	coquillages.		

14	 22	+	18	=	40		Elle	a	40	œufs.		

15		 154	–	30	=	124.	Il	a	124	€.	

16	 56	+	12	=	68		Il	a	planté	68	jonquilles.		

17	 	10	–	5	=	5	Max	a	5	stylos	de	plus.		

18	 14	–	8	=	6		Il	a	6	invités	de	plus.		

19	 10	–	6	=	4		Il	a	4	pommes	de	moins.	

20	 13	–	6	=	7		Max	a	7	billes	de	moins.		

21	 14	–	10	=	4		Il	y	a	4	garçons	de	moins.		

22	 10	–	8	=	2		Elle	a	2	ans	de	moins.		

23	 26	–	15	=	11		Il	y	a	11	voitures	de	moins.		

24	 8	–	5	=	3		Elle	a	3	voitures	bleues.		

25	 13	–	9	=	4		J’ai	4	poupées	de	moins.		

26	 25	–	17	=	8		Elle	a	8	CD	de	moins.		

27	 28	–	15	=	13		Il	a	13	fleurs	de	plus.		

28		 24	–	16	=	8		Il	y	a	8	crèmes	de	plus.		

29	 48	–	32	=	12		Il	a	12	pages	de	moins.		

30	 68	–	24	=	44		Il	a	44	Imbres	de	plus.		

31		 69	–	35	=	34		Farid	a	34	places	de	plus.	.		

32	 	65	–	61	=	4		Mamie	est	plus	jeune	de	4	ans.		

33	 9	–	5	=	4		Il	avait	4	billes.	

34	 12	+	6	=	18		Elle	avait	18	billes.		

35	 17	–	10	=	7		Il	y	avait	7	voitures.		

36	 28	+	16	=	44		Papi	avait	44	Imbres.	

37	 11	+	7	=	18		Il	y	avait	18	fleurs.		

38	 20	+	12	=	32		Il	avait	32	feutres.		

39	 22	–	8	=	14		Elle	était	sur	la	case	14.		

40	 12	+	8	=	20		Elle	avait	20	verres.		

41	 14	+	12	=	26		Il	y	avait	26	oiseaux.		

42	 70	–	48	=	22		Il	y	avait	22	gâteaux.	

43	 69	–	38	=	61		Elle	avait	61	photos.	

44		 24	+	18	=	42		Il	y	avait	42	gâteaux.		

45	 35	+	20	=	55		Il	y	avait	55	tomates.		

46	 65	+	43	=	108		Il	avait	108	€.	

47		 58		-	36	=	22		Elle	était	à	la	page	22.		

48	 67	–	8	=	59		Leila	est	arrivée	59ème	.	

49	 14	–	5	=	9		Farid	a	9	billes.		

50	 12	+	4	=	16		Leila	a	16	billes.		

51	 15	–	5	=	10		Charly	a	10	voitures.		

52	 16	+	10	=	26		Léo	a	26	Imbres.		

53	 49	–	14	=	35		Régis	a	35	CD.	

54	 22	–	16	=	6		Fred	a	6	feutres.	

55	 27	-	8	=	19		Léa	est	sur	la	case	19.	

56	 36	+	13	=	49		Sam	a	49		€.	

57	 55-24	=	31		Jade	a	31	poissons.		

58	 36	–	12	=	24		Il	y	a	24	fleurs	bleues.		

59	 69	–	38	=	31		Elle	avait	31	photos.		

60		 24	–	12	=	12		Il	y	a	12	gâteaux.	

61	 35	–	17	=	18		Nous	avons	18	tomates.	

62	 150	+	45	=	195		Papi	a	gagné	195		€.	

63		 235	–	124	=	111		Paul	a	dépensé	111	€.	

64	 36	-	15	=	21		Elle	est	arrivée	21ème;	


